रख-रखाव एंव अभियांत्रिकी इकाई भारतीय कृषि अनुसंधान परिषद भारतीय कृषि अनुसंधान संस्थान नई दिल्ली -12.

सं. KK-140/16-17/एमईयू .

दिनाक 23-10-2018

<u>e-निविदा सूचः</u>

ानंद , भा॰ कृ॰ अनु॰ सं॰, को और से एवद्वारा अधालिखित ानींद िला॰ ानं॰ वा॰, एम॰ ई॰ एस॰, रेलवेज, एम॰ सी॰ डी॰, लानि , या अन्य केंद्र / राज्य सरकार / अद्धे सरकारी एजेसीयों के साथ पजीकृत पात्र / एजेसीयों व विशेषकृत एजेसीयों से मु दर निविदा आमित्रेत की जाती हैं । एजेसीयों के पास ः , वैट/ ाटे तथा GST पजीकरण स॰ होना ओनेवाये हैं । तथा निदीशत द हेतु दो विगत वर्षों में दो समान क अनुभव होना चाहिय ।

क्र॰ स॰	कार्यका ना	अनुमानित लाग	धरोहर रा
1.	P/f tiles in Type-III, Quarters, in KKRC at IARI, New	Rs. 4,51,662.00	Rs. 10,000.00
	Delhi-12		

ई-ानविदा आतम ति१ : 23-11-2018 को 14.30 बजे तक

ई-ानाः खुलन ः ातः : 24-11-2018 को 15.00 बजे तक

ानीवेदा की व : रू. 500/- मात्र (अप्रातिदेय)

इच्छुक एव पात्र एजे निविदा विवरण देखने के लिए तथ **ई-निवि** प्रस्तुत करने र http://eprocure.gov.in

सहायक प्रशासानक आ (ानम / एम. इ. यूानट)

MAINTENANCE & ENGINEERING UNIT ICAR-INDIAN AGRICULTURAL RESEARCH INSTITUTE NEW DELHI-12.

No. KK-140/16-17/ME Unit Dated: 23-10-2018

e- QUOTATION NOTICE

Item rate sealed Quotation are hereby invited on behalf of the Director, IARI from the Contractors Registered with CPWD, MES, Railways, MCD, PWD or other Central/State Govt./Semi Govt. or Specialize agencies. The contractor must have valid IT-PAN/VAT/TIN and GST registration number and having experience of two similar nature of works in last two years for the work mentioned below:

S.N	Name of work	Estimated cost / Item Rate	Earnest Money
1.	P/f tiles in Type-III, Quarters, in KKRC at IARI, New Delhi-12	Rs. 4,51,662.00	Rs. 10,000.00

Last date & time submission of e-tender processing : up to 14:30 hours of 23.11.18

Opening of e-tender : 15:00 hours of 24.11.18 Tender Fee : Rs. 500/- (Non-refundable)

Desirous and eligible agencies for details & submission to e-tender may visit http://eprocure.gov.in

Asstt. Admn. Officer (Works)

Name of work: P/f tiles in Type-III, Quarters, in KKRC at IARI, New Delhi-12						
S. No:	ITEM OF WORK	QTY	UNIT	RATE	AMOUNT	D.S.R- 2014 Item No:
1	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	300	Sqm	Rs. 20.05	Rs. 6015.00	15.56
2	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)	10	cum	Rs. 892.70	Rs. 8927.00	15.2.1
3	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS:15622 (thickness to be specified by the manufacturer), of approved make,in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados,over 12 mm thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm,including pointing in white cement mixed with pigment of matching shade complete.	300	sqm	Rs. 836.65	Rs. 250995.00	11.36
4	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:5:10 (1 cement: 5 coarse sand: 10 graded stone aggregate 40 mm nominal size).	10	cum	Rs. 4,004.00	Rs. 40040.00	4.1.10
5	Providing and laying ceramic glazed floor tiles of size 300x300 mm (thickness to be specified by the manufacturer) of 1 st quality conforming to IS: 15622 of approved make in colours such as White, Ivory, Gray, Fume Red Brown, kaid on 20 mm thick cement mortar 1:4 (1 Cement: 4 Coarse sand), including pointing the joins with white cement and matching pigment etc, complete.	100	sqm	Rs. 785.40	Rs. 78,540.00	11.37

	·					
6	Proving and fixing 18 mm thick gang saw	26	cum	Rs.2,463.55	Rs.64,052.30	8.2.1.2
	cut mirror polished pre moulded and pre					
	polished) machine cut for kitchen					
	platforms, vanity counters, window sills,					
	facias and similar locations of required size					
	of approved shade, colour and texture laid					
	over 20 mm thick base cement mortar 1:4 (1					
	cement :P 4 coarse sand) with joints					
	tretated with white cement, mixed with					
	matching pigment, epoxy touch ups,					
	including rubbing, curing, moulding and					
	poishing to edge to give high gloss finish etc.					
	complete at all levels. Raj Nagar Plain white					
	marble/Udaipur geen marble/Zebra black					
	marble. Area of slab over 0.50					
7	Disposal of building rubbish/ malba/similar	25	Cum	Rs. 123.70	Rs. 3,092.50	15.6
	unserviceable , dismantled or waste				- ,	
	materials by mechanical means, including					
	loading, transporting, unloading to					
	approved municipal dumping ground or as					
	approved by Engineer-in-charge, beyond 50					
	m initial lead, for all leads including all lifts					
	involved.					
	Total				Rs. 4,51,661.80	
	20002			Corr	, ,	
				Say	Rs. 4,51,662.00	
Cul	not to be following terms & conditions:					

Subject to be following terms & conditions:-

- 1. The work shall be executed as per CPWD specifications.
- 2. Income Tax, work Tax & work cess as per norms shall be recovered from the bill.
- 3. 1% water and electrical charges will be recovered from the bill if supplied by the Department.
- 4. The work shall start within Two days from the date of award and complete within Twenty days failing which a penalty @ 1% per day delay will be imposed on the bill amount maximum upto 10%.
- 5. All the materials laboures, T&P etc. required will be arranged by the firms itself.
- 6. The agency shall deposit security @5% of the sanctioned amount including EMD.
- 7. The Director, IARI has the right to reject any or all the quotation/tenders without assigning any reason.

Agency:			
STA (Civil)			